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@ V5-1>1 © VII-2<-2+ V10
© 2-V3<V5-1+3 ® Vi+3<Vi+ V8
® 5-V5>5- V6

® 6,0 @ @ 6,00 ®a.e.6
® 0,6 6 5660

B

© VII-2-(-2+ VI0) = VII - V10 >0

S A11-2> -2+ V10
® V7+3-(V7+ VB) =3- V8>0

SANTH3> AT+ A8
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@ V5-V2< 5 © 4-V5>3- 6
©® V5-V2<+V5-1

ONQ) @ 0,0 ® 0,6
@ 9.0 ®a.0e

~&B

@ V- V2- V5=-v2<0

2 V5—V2< 5

©4-V5-3-V6)=1-V5+ V6= V6-V5+1>0
4-V5>3-6

® Vo-V2-(V5-1)=-V2+1<0

LVBE-V2< 51
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@ V21+3<V19-4
© V19- V5> V15 - V7
© VI5+3> Vi15+2

@o @ © ® 6.0
@ 0,0 ® 9,00

~&B

@ V21 +3 - (VI9-4) = V21 - VIO +7>0
V21 43> 4194
© (V19 - V5) = (V15 - V7)
= (V19— VI5) + (V7 - V5) > 0
V19— VB> V15— 7
© (VI5+3) - (VI5+2)=3-2>0
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D Vr-1>1 @ 5-vV5>5-6
® V2-1<43-1 @ VIg8+2> V1542

@)-V6> -5

=-V6+V5<0




V3=a, V30 = b 4 o, TS AL F £ AL LE T2

® V0.3=0.1a @ V0.03=0.1p @ 300 = 10a
@ /30000 = 10b (@) V027 = 0.3a

B

=0.1

© Vo5 = |2

/3 3
@ /30000 = V3 x 10000 = 100 V3 = 1004

V30
0
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@ +0.043 © V430
® V0.43 @ V43000
> £
> g ©
43 \/4,3 2.074
& +0.043 = T T _T_o.zom
© V430 = V4.3 x 102 = 10 V4.3 = 20.74
3 V43
\0.43 =
© 100 10
® V43000 = V4.3 x 104 = 100 V4.3 = 2074
o|BZ V43 =2.074 Y2 0|85t AlFL T2 7T 5 e
A2 ©°lth




AFTHEANA VI7 = 1.304, V17 =4.123 & o, V170 <] 729

O 0.4123 2)13.04 ® 41.23

@ 1304 ® 4123

V170 = V1.7 x 102 = 10 V1.7 = 10 x 1.304 = 13.04
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AFZEAA V3 = 1.732 V30 = 5.477 & ), 0.03 ¢ v0.003 <]

gro.g vk A AR|ol7 227

@® 0.001732, 0.5477 @ 0.05477, 0.1732
@0.1732 , 0.05477 @ 0.5477, 0.01732

® 0.1732, 0.001732

B

V0.03 = V3% 001 = 1/—03 —0.1732
0003 — 30500001 = Y30 _ g.05477

100
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A=V5+V3,B=V5+1,C=3+3

DA< B @ A>B ® A<C

B>

(A-B=(V5+V3)-(V5+1)

=v3-1>0
A>B

(20 A-C=(V5+ V3) - (3+ V3)

=v5-3<0
LA<C
1), (2)¢] Aitof eJste] B<A < C




17. oh ARTES ol85ko] V2001 9 k& FohEl?

T 0 1 2 3 4

3.0 | 1,732 | 1,735 | 1.738 | 1.741 | 1,744
4.0 12,000(2,002|2,005]|2,007]| 2,010
5.0 12.230]2.238 | 2.241 | 2,243 | 2.245

® 44.72 @ 34.64 ® 34.70 @ 34.76 @44.76

B

V2004 = V4 x 501= 2 V501
=2x V5.01 x 100
=20+5.01

ZFolZ FoA 5.01 = 2.238

- 20 X 2.238 = 44.76
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TE T geE A2
L 0 1 2 3
2.6 | 1.612 1.616 1.619 1.622
2.7 1,643 1.646 1.649 1.652
2.8 |1 1.673 1.676 1.679 1.682
2.9 1.703 1.706 1.709 1.712

D +2.60 @ V2.72

@ +2.091 @w/m - 294

® V2.83+ V2.70

@ FAX AFLEZRE 2,94 & 7 5 glh.




19. ohg B AFZEY QRRolt the F Fol HE ol gste] 1
w5 UE ALY
T 0 1 2 3
3.0 | 1,732 1,735 1,738 1,741
3.1 1,761 1,764 1,766 1,769
3.2 | 1,789 1,792 1,794 1,797
3.3 | 1,817 1,819 1,822 1,825
3.4 | 1.844 1,847 1,849 1,852
® V350 @ V335
® V3u @) v311 - V301

® +3.33+ V3.15

FolA AFTERE v3.60,V3.45,V3.14,V3.33 + V3.15 9
el e




20. V2139 g2 Agrsta, VB = 15524 o, A, B ©] Zr& vl2A L5t
7127
T 0 1 2 3

2,0 | 1,414 1,418 1,421 1,425

2.1 ] 1,449 | 1.453 | 1.456 | 1.459

2.2 11,483 | 1,487 | 1,490 | 1,493

2.3 | 1.517 1.520 | 1.823 | 1.526

2.4 1 1,549 1,552 1,556 1.559

® A:1.517,B: 2.32 @ A:1517,B: 2.41
@A: 1.459, B: 2.41 @ A:1.459,B:2.33

® A:1.414,B:2.03

HoJA 213 & 2Fo™ 1459 o]E& 213 = 1.459 0|1, A
T2 o] 15529 AL Zo D4 2.41 °|E2 241 = 1.552
ot
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%S T 5 e AL
T 0 1 2 3
40 | 6.325 | 6.332 | 6.340 | 6.348
41 | 6.403 | 6.411 | 6.419 | 6.427
42 | 6.481 | 6.488 | 6.496 | 6.504
43 | 6.557 | 6,565 | 6.573 | 6.580

@® 6.431 @ 6.287 @6.573 @ 6.590 ® 6.661

® & ALY o AE AFEEA Sk
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A n o skl v olske] AAs9f AME f(n) ol T o,
FU) + £2)+ f3) + -+ + f(n) = 1612 WZFHdhE= n o] g2 514
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HEFD 41

S5 ~
VI=1,Vi=2v9=3 V16 =4, V25 =5, V36 = 6, V49 =
7olBE

n=1,2349d, fn)=1—3x1=3
n=4,---,84 W, fn)=2—5%x2=10
n=9,---,15<4d W, f(n)=3—7x3=21

n=16,---,242 W, f(n) =4 — 9x4 =236

n=25-,354d ™, f(n) =5 — 11 x5 =55
n=36,---,484 W, f(n) =6 — 13x6 =78
3+10+21+36+55:125O]1
n=410]"H 125+ 6 x 6 = 161

son=41




